Differentiation ... The Chain Rule

. Setl
Chain Rule Practice
Differentiate each function with respect to x.
1) y= (5t 1) 2) y="-" -4
3) flx)=(4x° - 1)Vx+1 4) y=~-=t—1(=x-2)
5) y=0(Bx-1)(-3x*-4)" 5x°-3 0\
) y= ()34 6 f0)=(F577)
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3(15¢% — 6x—4)

(-3x% —4)*
5¢v° —3 2 _343 V2554 — (545 — 3) - —Oy2

6) f’(r):S‘( v% ) (37 +1)-25x (wﬂ ). —9x

| vl (=33 +1)°

3x%(5x° = 3)%(=30x° + 25¢% —27)
(=3x* +1)*
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1 ( \.-, ¥r-3
3‘5+4 ? 8) ‘f"\‘): g
L) —X =2
7) ‘.f'(:\)_ -\‘275)
9) y=sec2x’ 10) f(x)=(-3x" - 1)esc 5x*
11) f(x)=cos 3x% - /5% — 1 12) f(x) =sin 4x°
13) flx) o2t 14) v = cot /-5x> =2

tan 3x°
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4 _ N 5 5
- ) x=5)-=(x*=3) ¥ 2x+(x* -3
N i) 1 (.\‘5+4) > (3P =5) st (¥ +4) - 2x 8) £ ) 5(Y ) vt )
X)l=—" . =
N P ) P S
(327 - 2527 - 8) 3P —15-10x
4

4 s
5(x*+4)° - (x*-5)°

dy
9) — =sec 2x* - tan 2x* - 8x*

S(cx =5 (x =3)°

10) f'(x) =(-3x> —1) - —csc 5x*cot 5x* - 20x° + csc Sx* - —9x?

dx
= x%cse Sx* - (60x*cot Sx* + 20xcot 3x* - 9)

= 8x’sec 2x" - tan 2x*

2 1
3

\ , 1 )
11) f'(x)=cos 3.\»«?(5_\»371) P15t + (521 1)

~ x(=30x"sin 3x* + 6sin 3x” + Sxcos 3x7)

-

(5x*-1)°
1
- 3 4 ~ 5 - - 4 14 (i‘i‘_ 2(;;3 "\}T
13) £ = tan 3x° - 16x° — (4x 1+ 3]_ -sec? 3x7 - 15x ) R
tan® 3x°
3

- —sin 3x” - 6x 12) f'(x)=cos 4x” - 1247
= 12x%cos 4x*

~ x’(16tan 3x° — 60x° - sec? 3x” — 75x - sec? 3x°) _

tan? 3x° \
(=5x* =2)



